logAYIAY,)

2

CIE tristimulus value difference

)¥3-16 (v,=100, 0,8% V) [2b]

CIELAB & TUBJND AY normalized toAY,,

L*rugonp=d In [1+b-(Y/Y)] d=25,6 b=6,141 [24]
L*cieLag =116(Y/Y,

log(AY/AY,) CIE tristimulus value difference
CIELAB & TUBJND AY normalized toAY,,
2

L*ruggnp=d In [ 1+ b (Y/Y,)] d=25,6 b=6,141 [2a]
L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]

o

-1

-1, -1
100 150Y 100 150Y
log(AY/IAY,) CIE tristimulus value difference |[[log(AY/AY,,) CIE tristimulus value difference
CIELAB & TUBJND AY normalized toAY,, CIELAB & TUBJND AY normalized toAY,,
2 2
L*7usanp=d In [ 1+ b: (Y/Yy)] d=25,6 b=6,141 [2a] L*rusanp=d I [ 1+ b: (Y/Y)] d=25,6 b=6,141 [2a]
L* cieLag =116(Y/Y,)-16 (Y,=100, 0,8% Y) [2b] L* cieLag =116(Y/Y,) =16 (Y,=100, 0,8% Y) [2b]
1 1

-1

Geebi-3a

Coesi-a

eee51-3n




